C:h Addition (Horizontal)

Name:

Solve each problem.

1) 223+12=

2) 6,937 +54=

3) 673+535=

4) 1,241 +998 =

5 478+70=

6) 4236+ 60=

) 72+65=

8) 4,400+ 1,787 =

9 916+ 653 =

10) 0+ 8=

11) 362+ 12 =

12) 7,111+2,293=

13) 6,465 + 63 =

14) 6,000 + 3,877 =

15 91+1=

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

223+ 12= 235

6,937 +54= 6,991

673+535= 1,208

1,241 +998= 2,239

478+ 70 = 548

4,236 +60= 4,296

72+65= 137

4,400+ 1,787 = 6,187

916 + 653 = 1,569

60+ 8= 68

362+ 12 = 374

7,111+ 2,293 = 9,404

6,465+ 63= 6,528

6,000 + 3,877= 9,877

91+1= 92

10.

11.

12.

13.

14.

15.

Answers

235

6,991

1,208

2,239

5438

4,296

137

6,187

1,569

68

374

9,404

6,528

9,877

92
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Addition (Horizontal)

Name:

Solve each problem.

Answers

{

6,991 4,296 2,239
6,187 137 68

235
1,569

548
1,208 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

223+ 12 =

6,937 + 54 =

673 +535=

1,241 + 998 =

478 + 70 =

4,236 + 60 =

72+ 65=

4,400 + 1,787 =

916 + 653 =

60+ 8=

10.

C
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